
Dr Davis earns $55 an hour. How much does she earn for working 9 hours?

6 classes each with 25 students went on a trip to the beach. How many students went on the 
trip?

Each kit costs $99. The club president orders a new kit for each of the 6 teams in the club. What 
is the total cost?

Multiplying 2 digits by 1 digit

There are 6 wards at a hospital. Each ward has 67 beds. How many beds at the hospital?

7 sticks are needed to make a heptagon. How many sticks are needed to make 34 heptagons?

Karly saves $75 per week. How long will it take Karly to save $600?

There are 8 sections in a theatre. Each section has 65 seats. How many seats in total at the 
theatre?

74 oranges are cut into quarters. How many quarters are there?

A length of pipe is cut into six  57 cm long pieces. What was the length of the pipe before it was 
cut?

Each parcel has a mass of 35 kg. What is the combined mass of nine parcels?
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